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yalisiel [aouoddidl AREHiHL Bl ol GUAIRLL 8. HUBL dHindl Sedlse AHDIL 2 d-l Gualal
Woud 6L 4 yalsidl oLAL. (2dH AWML 2aud, HCF (Highest Common Factor) A<l
GCD (Greatest Common Divisor) ) 204dl 312 32‘12\'!5.

sARAAL YA UHAHL B YRSl dRusil ald A B, dd el 9L 3, eds
(oo vl 2o Avadl ARIsR ddld ey Jd saldl asid. 2 UL AN A
2isolBlad Haeiad uHa S, L uReuy waodEl euldl A auedl ws 2l visolBid-l
woeld UHAAL 6L Hud ety GuAlal s3g. ddl oUBlddl &l Sedls vt % GlAL vt difulat
GUAPl B, dR R0 IX ¥l V2, VB 2 5 Fdl well ol A€l veqi sdl 9. ¢d iUl
Lol AvAA 2AAL AUGIA 5L U UHAHAL Gualal 533l
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L h ‘H_
SRUGHL HIRBUHL i A & 5 516wl wiglis Avald d-l 2Hacusd vaudi-l e
aRisiz 3u avll astd. Gelsd dils, 2 =2, 4 =2 x 2,253 = 11 x 23, 2 il SoctS
UHIBL AL AH]l A5, L9UBZ 3




SR

ed, 2UuBl miglas Avaiie oflg Wl gl uact sA2L SIS uL wglas Aval Al Avalis
speusiel Mol asta? Aldl 2uusl BSB. A AvAUAL S5 uBL A dl. Beleal dils, 2,
3,7, 11 i 232Ul 32efls viadl ol o Avalpiicdl oIS s3M v sl Sl dedl auvid
A YRlddA sai-l 92 dlat dl 2l ot vl 4 yaist qadl agla (WMAnR dl, viddd
AvAAL). ALEAL 2B S2ells ALEL oielellA.

7 x11 x23 =1771

3 x7x11 x23=5313

2 x3x7x11 x23=10626

2’ x3x 7 =8232

2% %3 x 7 x 11 x 23 = 21252 %A L uwdl...

gd, A 5 dAHIRL ARG ALl AHSHL ol % s w1[AeUrd AL ddBl dl Bl
AHSL 58 Sed A A M2 dHIR 9 M 87 o ddl Hel MBad dvaml o yailst ¢d ? vaa
i AvAHL YRUISL €A? AW dl eld AvaML AAl—oUsU vl 9, 2], Al 2uudl ol o
Qoo duaipiiad L Ad Alsollad dl, oHl o 2[Aed vl 2 oHl o ifAciod Avalikl
A s ORUSIRL A9 HURL teid AvASAL A Hadl aslal. us 2l 9 5 9 2uuel ol o
(oo vl 24l 2d Hadl agln? dd o (@Rl 917 di @Rl ol 5 o Alacued dvaiii-l
Blddl ARUSIR < Sl ddl SIS [Aouad Aval seid ¢A? 2Uu8l G 2AlA d udal, Aldl sl d-
yalisid vaudlsae 3. 2l 2008 ¥ 54 8 d-iel Gladl uBul st

ddn URRA 2dl vayd gatdl A8 Guadlol s Aldl, sl SIS HIEL dvdl adul BHS
32,760 i 0101 el UHIBL Hadd Yidla ¢
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2 8190
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3 1365

3 455




azdlas AvuB

el 2UURLA, 32760 L 2 x 2 x 2 x 3 x 3 x5 x 7 x 13 %ol sildeuay dvaiii-l dRusiz 3u
ua, 69,

el 32760 = 23 x 32 x 5 x 7 x 13 A »A[Ac04 AvALAL dldel dLRusiz 30 ealdl s,
Al Huusl ofle dval 123456789 sl drl 32 x 3803 x 3607 dls @vil Asld. vV dl dHIR
udlal 529 NS 5 3803 2 3607 2ildcuod vl 9] (AHdl wad ollw sedls wislas Avail
He ulael s2) Bl ded diued Al JReL ds el d 9 5 es [Aeued v nlacisy
AvABAAL Bldl OLRUSR @30 dvll s, AR dl 2 [ A 9. YRiSHL e W2 asdl
il Raius qBise dlenel dd 2isalBidd 40eiad uHY 58 8.

LAl U8 A L UANAA 2AuARs Jd saldlA.

WHY 1.1 (@isaldd HaMd UNA) @ g5 [Aeury dvaud, ddl wqudldl sH Qi
2ldeury dvarill ygusik dls sy Ad avil asiu ©.

An equivalent version of Theorem 1.1 was probably first
recorded as Proposition 14 of Book IX in Euclid’s
Elements, before it came to be known as the
Fundamental Theorem of Arithmetic. However, the first
correct proof was given by Carl Friedrich Gauss in his
Disquisitiones Arithmeticae. Carl Friedrich Gauss is
often referred to as the ‘Prince of Mathematicians’ and is
considered one of the three greatest mathematicians of all

time, along with Archimedes and Newton. He has made Carl Friedrich Gauss
(C.E.1777 — C.E.1855)

fundamental contributions to both mathematics and science.

Bl yaod uHA gald 8 3, e [Acuod wWvdld wlAcuoy Avapiidl dRusR @3l
audlsel 53 asid. $slsaul d 565 Ay eald 9. d eald & 3 uud S5 un [Reuos Avald dl
AAUAIAL sHA AR 2A[AeUpY AvAUAL dRUSIR dLE A Ad [3us 53 as.

2wl e SIS uel [Qeuo v Ao AvApiHL RIS dls s Fd ealdl
ASA 2 AUl 59 iAo AvAl sul sH HAL d W 2UUBL AU AL LS wsla Geleal dls
JALSIRML gdd AvUL 2 x 3 x 5 x 7 ud 3 x 5 x 7 x 2y wual ol S5 usl sy
suul saldd i AU vl @uilsl dldoeEl JRIsR WHd 8. L gslsan Al a3l
waL ealdl s,

1 4] 42l 8¢ v uslas dqvard +Acurd HaudHi Haadls9 du s 2#QoR2 dl s
gl 6.

aus dd, 2ld [Benwd il x 4 Ul x = p, p, ... p, dils avl wsly, @l p, p,. . p,
> ifAoud Avalpll © i Asdl sHHL avidl O, ed 5 p < p, < < p .o UL AMIA
lAeurd Avalpia R, dl iU Alaenrd Avdl-l did 4. Gelgl dil3,

32760 =2 x 2 x 2 x 3 x3 x5x7Tx13=2"x32x5x7x13

Mg Auid UL A8l 5321 5, ALAMIAU AUl Al $HHL S ol UL, AHAUALEWL A 4L,
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AMAML 2 oflogt &ML 2SRl HAGLd UHAAL Uss GUAPRIL O, AL UL Sedis
Belgell A,
Belg2BL 1 : 5155 4 Youls 7 W2 47 -l Decdl 25 9d ¢ 3 34 d el s,
B34 : o 1S Ul He Yalls 1 M2 AvUL 47 AL Dedl 2is ged G, dl d 5 Al [Qeled S, vl 47
Al 2A[A6U%Y AAUAHL 5 Sldl BSB. L AsA Al S8 5 47 = (2)7; hel 47 Al vaudlseHl
25 o Ao yails 2 Ho. il i5BldAl Yuod Ul AL A AR AL AY D 5
47 AL vaudlsal 2 Raw ol S8 slheued Avar gl e s wglis vl o Adl 4 1A 3
el M 47 AL ilAd vis 9d Sl

AUGHL HIRRUHL d¥ sl Hoed UHAAL e Jd Gedvt sul QR 6 4 yaisi-l
AALA. A QAL (dgdH A A14dd], LCM, Least Common Multiple) iaqi vl 2l
9L, 2 wgla 2ldeuo squdlsze ugld s ua 2invud 8, wdl 20u8l 21 Yalad Gels g2l
e s3.
Gelgnl 2 ¢ [aeusd waudlsnl ugldel 6 i 20 L UL el AL AL
Bsa 2Rl WA 6=2" x 31 24,20 =2 x 2 x 5 =22 x 5! gy,
UG HRRIHL WA, 8 dH di LALA. (6, 20) = 2 il AUl (6, 20) =2 x 2 X 3 x 5= 60
wadl asl.

%L 3, AL, (6,20) = 2! = Ul AvARIHL WAL AHA AP AUl AL
AL BldiSAl UELL dLRUSIR

adLB, (6,20) =22 x 31 x 51 = 2UEl AvAUL WAL dH 2[QeUFY AUl HETH
BldlsUNl UELL dRUSIR

BuRril GElSAHL di Y 8 5 OLALA. (6, 20) x AAL. (6, 20) = 6 x 20.

VLR dl S A5l Al 5 SIS weL 6 b yailsl, g e b |2

LALA. (a, b) X AN, (a, b) =a X b A,

A 6L et YRUTSIAL OLALL U E1d dl UL 21 uRRUHAL Guadlol 53 ddell @l ol asla.

BELERBL 3¢ 96 i 404 il ALALA. HlAcurd vaa-]l Zd Hadl 2 d wel d-dl @4l L

B5c : 96 27t 404 < lAGAHL audlsel 96 = 25 x 3, 404 = 22 x 101 “al,

el vl oid YRISIHL QAL = 22 = 4.

96 x 404 96 x 404
dLAULA. (96,404) 4

aull, d@.uL1. (96, 404) = = 9696

Gelsawl 4 : Aoy waydiddl Aadl 6, 72 i 120 <l ALALM. i QAL 2L
Bsa : wuupll Wi,
6=2x3,72=23x32120=2>%x3 x5
], AHRL AUl s 2 2 3 oAl Al Al "iddion ue 2 i 3 6.
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alzdlds dvaiil

el oLt (6, 72, 120) =2' x 31 =2 x3 =6
UYL ABLA AvUALHL 23, 32 24 51 24 A [AU%Y, DUl 2, 3 27 5 L Hi2lHl M2 gldaion Ye 9.
e, @AuLA. (6, 72, 120) =23 x 32 x 5! =360
A4 s oAl 5, 6 x 72 x 120 # LA (6, 72, 120) x &L, (6, 72, 120).
2ilefl AR AvABAAL ARUSIR dHAL LALA. 2t AALDLAL ARUSIRA AHIA L UL Sld,
ALY 1.1
1o <Al e3s 2Avai del ilacuod vaydiql dusR @3d ealdl :
(i) 140 (i) 156 (iif) 3825 (iv) 5005 (v) 7429
2. A 2td yaisidl A oLuLL A AL WEL A
AALM. X QAL = ol YRSl RIS Al B dx AL
(i) 26 »i1 91 (ii) 510 i 92 (iii) 336 2t 54
3. A 2 yailsin Aacued HaydHdl Ad AL A d.uLL AL
() 12, 15 2421 (i) 17,23 21129 (iii) 8, 9 2+ 25
% ALALM. (306, 657) = 9 U S, dl A.uL. (306, 657) L.
5195 Wiglas Aval 7w 67 AL vilax 2is g A 5 e d asel.

AUAAL S 7 X 11 X 13+ 1327 x 6 x5 x4 x3x2x 1 +52 A 12 [aouosy qvail 9 ?

A A

25 WAL HelHl dquusiz Wol 9. AUFAUA A 2 uRena yel sdl 18 Filse @l 8,
R AAA dd s uReH Y&l s2dl 12 Bz @l 9. QIRL 5 oid 215 o AHA, s o [Bigidl,
s % leudl wRaer said wie 53 8, dl sedl BilHe olie oin 531 WRAlblg u clow Y ?

1.3 2dua dvaiild y-Rldad
QREL IX Wi AL AU A ddl =R ol QRIMMIHL URAY dd sddm
AL Sl dH del AR v 5ol {d ARY A RANY Avsl W Aol

alRAQs AvUAL 6iAld 9 drll 2eUIU SU1 Sdl. d¥ AUNY AvUAA AV ML UR

K3X2]6

galladl wel oflval 9l gl 3 uud d AvARL URA AvARL O dx A A€l

NN

s, 20 UM, AU V2, V3 A 5 i 2us Fd laeueAvaL p Uz AP ARL O d ABid
5309l iSALBAAL YA UHL il 2wt UHALAL UL 530 2Bl 24 uRRUM Wi s3el.

NN N e

e 53 5 % AvaA Yyails p dal LiaR yails g Wiz £ 2azumi dvil 4 sy d vl s A RNy

Auul sead 9. gl 2uvel uRRd ¢la, dar V2, V3, V15, T, —ﬂ, 0.10110111011110... %<l

NG

BIAURY ALYAAL BelgReLL ML,

AUEL V2 2ANU 9 dM ABIA 532 A uSdl UL L UL Y U suldd uHa 1.2+
32 U, dril ABIAl BisoulBldAl HaMd UHA U R 6.
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WY 1.2 : Rl 5 p s uldeuru dva . 4+ yals a e, a A p 43 [Qeury €4, dl a
yg p 43 [dcuoru sly.

=AUl = 3 a o 2ifAcued vaudiHl Aaydlsa 12wl @

aA=p.py Py B P, Dy, p, 2 AT AVAD O, 2S5 d p,p), . p, (R
AL % LA,

e, @ = (pp,--P)DD,--P)=DP’D} . D’

gd UURA UL B 5 @@ 2 p Al [Acued 9. W sl Yoeid uHA uel sél asd
p oL@l s AU dud €l i5URIAAL HAMA UHAAL il 2wl 56l wsld §

~

@ <l et waddl Wal p, py, . p, 8. 2l p A p, p, o, po USHL s AL ed
a=p, p,..p, el paa-l saud w8,

g UL V2 AU O drdl 1] vl w2 dUi ¢l

L AL @lrRuR L s v 2nRa 9. (a0 uylsasdl Sedls wal uREre Al [@ad
54 ©9.)
WHY 1.3 : V2 2 AR 6,
Alleidl : 209l Glag, WA 3 V2 AHY O,

wiefl 28 V2 = = A da yelisl r ot s (s = 0) Hadl asla.

-~

By A s A 1 [Rald AR AU €1, dl d dHIM AL 2Addd 93 7 dEl s A

Ldl 2 = % Ha,

YL g oA b AsAcUr dS Wl 20l b2 =a
UL 6l o1y Aol 53 yrolisarl s3AB dl, 262 = @2 MO W2 @? A 2 4 [Aciod 9,
gd, UHA 1.2 AR, a ¥ 2 4 [Qcued ©.
e, el S5 Yauls ¢ H2 a = 2¢ avil wsl,
a <il (Bud Hsdl 2uuRin 257 = 4¢2 1AL, 2], b2 = 22 Ul
2L e B WA 5 B2 A 2 Y [[euad 8. il b el 2 a3y [Qeusd 9.
(s3ell u¥Y 1.2, p = 2 WA GUALLHL Adi)
HIZ, a dUl b L UOHL 2L 215 AWML AU 2 69,

28], g 2 b A 1 R 515 o A 2add Al d dRAL [ Ha.
V2 ARA 8 d HIReL L dlalel i [QREeIA Beatedl.

w19, 56l KU 5 V2 AHY O,

“ulau-l dqall uta <l



adlas dvaiil

Geld2mL 5 : ABLd $A 5 VB 2 2AAY O,

-~

B5d : 20l Glag, WAl 5 V3 2 AHU 9.
well 209 LA yRls a 2t b 2l aslat 3 el V3= 2o,

QA 5 g 2 b A 1 Rad 518 Mt 2add 9. il U8 dd AHIRL 2add 93 @(la
2 AUsdl ol R Hidl adu 5, a 2 b asQensd ©.

29l b3 = a.

6id 6u% Aol 53 Yrollsarl sl HuBLA 352 = a? |4,

We @ A 3 ad [Acued 9. el uHY 1.2 24A1 g w2l 3 ad [Aeusy 9,

e, el S5 Yals ¢ w2 a = 3¢ avil sl

a ~il [Bud ysauell 362 = 9¢2 »ul, Rl p? = 3¢ .

Al el 2L Al 5 A2 A 3 A3 el wstd A dgll b A uel 3 a3 el st

(p =3 W2 AU 1.2+ GUALAL i)

2L, @ AUl b A UOHL AL 215 ML AU 3 €9,

e, g v b devfdeuod glal Qe [@Qaeud Glell YAl

L [QRUHICUA BeMAL 51015 2UUEL V3 A © ddl s2e HIRBIL A D,

H2, 248l 56l wslal 5 A3 Bl wANY O,

c

H1R80 TX ML 2Bl sl s, 3,
0 AHY A HAHA VUM AU 5 dSldd AAHY 1Y &9,
o Yrdd? AHY AVAL WA AAHA AVAZIU YBUSIR 2 FLIUSIR HARY 1Y .
§UEL Seells v [Asedidl i wReus AUBid s34,
BEIRBL 6 : sUdl 5 5 — 3 2RAY O,

N N

B34 : wugl Glag A 3 5 — 3 ol AR B,

vl 21U AeAlousd yals o 21l yails b el aslat 3 el 5— V3 = 2 A (b= 0).

Wes- 2 =43,
~ . h 5b — ~\ N G~ ~
2L A5l yeotsanll sdl 2uued 3 =5 — % = = 2 M0, g @A b YRSt Sl

5— % AHY HOL 2 U] V3 uRL AHA U,
2], V3 2AHA 9 d deudl (AR Gaun .
2L (AU BeMAl, 5128 5 2UURL 5 — 3 AHA 8 ddl 536 WU AU ¢dl.

Hi2, 248l 56l wslal 5 5 — VB 2RHE 9.
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Belg20L 7 : sauldl 5 342 HY B,
B3 : wuel Glag wRl 3 342 ARy 8.
wiell AaAlAouod yals a 2t yals b bl aslel 3 o6l 342 = £ (b # 0). Yrilisar

sl R 2 = % Ha,

3, a @ b yaist il S“—b ARY O i 02l V2 uRL AHU B, uig V2 2RAHY D, 0l d

deusl [QRlael Glell wiA.

el uel s¢l AslL 5 342 AAHY 9,

ALY 1.2

1. Alid s 5, V5 2RgHY ©.
2. ALd S 5, 3+ 25 2HY O,
3.0 <l saldd Aval AHL O dH ABd s
(i) = @) 75 (i) 6+ 2
2
1.4 aRia
2L USRQAHL A {12l HelAL e 5L

1. sodd 3o wdd @ e [Qeuwd Avdld ddl 2qudidl s¥d saeld stlaeusy
AvaiieAl ORISR dly 2w dd ealdl asy 8.

2. ol p wilAciod 1 A @3 p Al [Aced S, dl g w8l p ad [Aeusd 9,

3.0 2, B RAA S d AlBid s:d,

|

s iy

NS T

dAd oY 9 5,

4l Yalst p, g, r W2 LALLM, (p, ¢, 7) X AU (, ¢, 1) #p x g x 7, (Bels8L 4)
U 69l 2Bl AVAIBAL p, ¢, 7 HI2 «dlAAl uRRIML A” © ¢

p-q-r XU, (p,q,r)
ALAL A .(p,q) XALAL 2. (g, )X LA .(p,T)

aqlA. (p, g, r) =

p-q-rxax.(p,q,r)
qauLA.(p,g) XauL¥. (g, r)Xax.(p,r)

LALA. (p, ¢, 1) =
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